Lab 01:  Solubility as a Function of Solute, Solvent and Temperature


	
	

	g solute / g solvent is scaled to 100 g solvent
# g solute / g solvent = g solute / 100 g solvent

	g solvent = mL solvent x d solvent 


	d water = 0.9975 g/mL
d water-dioxane = 1.023 g/mL

g solvent = (mL solvent ) x (d solvent)

	Potassium Dichromate

X axis:
    c = mol solute / ( mol solute + mol solvent )



	X axis:
T (oC)

Y axis:
( g solute = g solute used x 100 g solv / g solv used )

	NOTE:    Oxalic Acid-Dihydrate
mol C2O4H2 .2H2O →3 mol equiv (1 acid + 2 water)

X axis:
    c = mol solute / ( 3 mol solute + mol solvent )

Y axis:
         T (oC)




Lab 01 Report
1. Table of all data calculated with excel
2. 2 graphs (Submit one page for each graph. Each must have title, labeled axes, regression analysis for each data set, and legend of points on the graph.)
3. Bullet points (1, 3, 4, 5 on p. 16) 
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